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(B3 1,035 305 730 1 |#Ligh 3,577 2,225 1,352 | 1 [FRERX 28 5 23
2 |EHE 65 7 58 2 [iEeh 44 8 36 PGETS 93 14 79
3 [5FE 87 20 67 3 [Fhimth 17 3 14 3 |BX 790 350 440
4 |ERE 109 23 86 4 |BEH 254 77 177 4 | FERX 2,864 1,125 1,739
5 AR 38 7 31 5 )l 117 63 54 5 | XEHERK 223 93 130
6 [LLFzE 36 6 30 6 [tEERE™ 19 1 18 6 [BEEREKX 1,119 631 488
1 |RER 122 16 106 RE = 608 217 391 ETETSS 1,260 491 769
8 |RE 175 17 158 8 [m#kth 959 384 575 8 IERX 67 42 25
9 [HEARE 372 35 337 9 | K 4,485 2,890 1,595 | 9 [SRIIX 200 112 88
10 [HEEE 145 28 117 |10 [ 35 2 33 10 [HERX 39 15 24
1 [BEE 331 57 274 |11 [#HFm™m 109 36 73 11 [KARK 201 94 107
12 |[FER 884 170 714 |12 |t 59 14 45 12 [{HHAX 351 111 240
13 | B4R 358 76 282 13 (L& 442 283 159 13 X 1,406 709 697
14 [#=JIE 369 106 263 14 [)IlOH 16 9 7 14 [FEFX 317 168 149
15 [FiRE 239 17 222 15 [J\EFH 38 13 25 15 (&2 322 110 212
16 [EILE 113 14 99 16 [##28&h 67 10 57 16 [EBEX 1,560 690 870
17 |[BIIE 42 8 34 17 |&iRt 64 32 32 17 [k 337 123 214
18 |fBHE 36 6 30 18 [EfEHh 4 1 3 18 [FIIX 102 69 33
19 [ILBE 302 53 249 19 |—= 3 1 2 19 [#RIEX 344 133 211
20 | EHE 138 22 116 20 |[#xATH 17 4 13 20 [FEX 84 15 69
21 [IFE IR 205 39 166 21 [J\Emh 3 1 2 21 [RIX 115 46 69
22 |F3ME 2 364 70 294 |22 |[BRJIH 3 3 0 22 |BfiX 343 182 161
23 [BEHE 113 17 96 23 |WRHETH 11 2 9 23 IR 297 140 157
24 [=EE 205 17 188 | 24 [3ERR™ 8 0 8
25 |HER 191 36 155 | 25 |G 6 0 6
26 |ARAF 81 11 70 26 [B=ET 1 0 1
27 | KR AF 186 32 154 |27 |BAFETH 0 0 0
28 |[EER 63 6 57 28 |[ERH 62 9 53
29 [ =ERER 185 23 162 |29 |EEH 15 1 14
30 |F0FRILIE 435 126 309 [30 [BE#®H 23 9 14
31 [ERE 23 6 17 31 |E%0mh 20 2 18
32 |BRE 92 15 77 32 |IRE;TH 452 80 372
33 |REWIE 47 11 36 33 |ETHTH 22 3 19
34 [[LER 158 29 129 |34 [&ERH 76 13 63
35 [lLOE 83 10 73 35 |F4IBmH 22 5 17
36 [EER 62 8 54
37 [BIE 132 43 89
38 [BER 141 33 108
39 (SR 55 9 46
40 |fER R 1,691 1,013 678
4 [EER 40 10 30
42 | RIBE 152 45 107
43 |FERIR 121 28 93
4 | K8 102 37 65
45 [FIFIE 80 20 60
46 |[ERER 177 30 147
47 [hiER 1,426 436 990
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